& Multiplizieren Sie Dezimalzahlen mit
a % e &
(3 & Zehnerpotenzen

Name: Datum: Ergebnis:
6,326 x 100000 = 5,53 x 10000 =
4,203 x 1000 = 7,067 x 10000 =
5, 886 % 100000 = 9,192 x 100000 =
3,344 x 10 = 1, 178 x 10000 =
3,599 x 10 = 6,963 x 10 =
2,743 x 10000 = 1,662 x 100000 =
3,655 x 1000000 = 6, 846 %< 1000 =
9, 806 x 1000000 = 10, 147 x 1000 =
1,388 x 10 = 10, 399 x 1000000 =
1,576 x 1000000 = 9, 744 x 10000 =
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g i ; 3 g Multiplizieren Sie Dezimalzahlen mit
A Zehnerpotenzen

Name: Datum: Ergebnis:
6, 326 x 100000 = 632600 5,53 x 10000 = 55300
4,203 x 1000 = 4203 7,067 x 10000 = 70670
5, 886 x 100000 = 588600 9, 192 x 100000 = 919200
3,344 x 10 =33.44 1,178 x 10000 = 11780
3,599 x 10 =35.99 6,963 x 10 = 69.63
2,743 x 10000 = 27430 1,662 x 100000 = 166200
3,655 x 1000000 = 3655000 6, 846 x 1000 = 6846
9, 806 x 1000000 = 9806000 10, 147 x 1000 = 10147
1,388 x 10 =13.88 10, 399 x 1000000 = 10399000
1,576 x 1000000 = 1576000 9, 744 x 10000 = 97440
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